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QUESTION 1

You are using a gTAA to create a TAS for a project. The TAS is aimed specifically at automating a suit of 

existing manual test cases for standalone desktop applications. All the interfaces between the TAS and 

SUT will be from the CUI of the application. 

Which of the following layers of the gTAA should you focus on for the TAS? 

A. The test Generation layer 

B. The Test Definition layer 

C. The Test Adaption layer 

D. The Test Execution layer 

Correct Answer: A 

 

QUESTION 2

You have been asked to automate a set of functional tests at system Test level via the CLI of the SUT for the first
release of a software system. The automated tests will be delivered to the learn in change of maintenance testing, who
will use them for part of the regression testing. They have the following requirements. 

1.

 The automated tests must be as fast and cheap to maintain as possible 

2.

 The cost of adding new automated tests must be as low as possible 

3.

 The automated tests must have a high level of independence from the tool itself 

Which of the following scripting techniques would be MOST suitable? 

A. Data-driven scripting 

B. Keyword-driven scripting 

C. Linear scripting 

D. Structure scripting 

Correct Answer: D 

 

QUESTION 3
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As a TAE you are evaluating a functional test automation tool that will be for several projects within your organization.
The projects require that tool to work effectively and efficiently with SUT\\'s in distributed environments. The test
automated tool also needs to interface with other existing test tools (test management tool and defect tracking tool.) The
existing test tools subject to planned updates and their interface to the test automated tool may not work property after
these updates. Which of the following are the two LEAST important concerns related to the evaluation of the test
automation in this scenario? Is the test automation tool able to launch processors and execute test cases on multiple
machines in different environments? Does the test automation tool support a licensing scheme that allows accessing
different sets? Does the test automation tool have a large feature set, but only part of the features will be sets? Do the
release notes for the planned updates on existing specify the impacts on their interfaces to other tools? Does the test
automation tool need to install specific libraries that could impact the SUT? 

A. A and C 

B. A and E 

C. B and E 

D. C and D 

Correct Answer: C 

 

QUESTION 4

A regression test suite consist of 500 test cases which are all executed manually. The business case for a pilot project is
based on the adoption of test automation using a commercial tool that will reduce the execution time by a factor of 90%
for 100% of the tests in the regression test suite. The pilot project lasted one month ( as planned) and you are currently
its results. At the end of the pilot project, 40% of the regression tests have been automated and their execution time has
been reduce by 60%. Which of the following statements is TRUE in this scenario? 

A. The duration of the pilot project was too short ?t should last unit the success factors are achieved 

B. The target defined for the business case is too accurate ?t should not be measureable 

C. The project selected for the pilot is too critical ?f should not be too critical or too trivial 

D. The target defined for the business case seems difficult to hit ?it should be realistic 

Correct Answer: D 

 

QUESTION 5

Consider the following example of TAS metrics. 

Time to execute automated tests 

Speed and efficiency of TAS components 

Which of the following statements is TRUE? 

A. A and B are both internal TAS metrics 

B. A is an internal TAS metric and B is an external TAS metric 
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C. A and b are both external TAS metric 

D. A is and external TAS metric and b is an internal TAS metric 

Correct Answer: A 
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